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M.Sc. DEGREE EXAMINATIONS, NOV/DEC—2011
REGULATIONS 2007
FIFTH SEMESTER
XCS 355 - DESIGN AND ANALYSIS OF ALGORITHMS
COMPUTER TECHNOLOGY

(Common to Software Engineering, and Information
Technology)

(Also applicable to Regulations 2009)
Time: Three Hours Maximum: 100 marks
ANSWER ALL QUESTIONS
PART-—-A (10x2=20 marks)

1. What is recursive algorithm?

2. Define the divide and conquer method.
3. What is the use of TVSP?

4. Define flow shop scheduling.

5. Define weighted tree.

6. Define Depth first search.

7. What are the requirements that are needed for
performing Backtracking?

8. What are the searching techniques that are commonly
used in Branch and Bound method.

9. What are NP-hard and NP — complete problems?

10.  What is approximate solution?
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PART—B (5% 16=80 marks)

() Define the asymptotic notations used for
best case, average case and worst case
analysis of algorithms and explain.

(i) Explain the working of binary search
algorithm using divide-and-conquer with
an example.

Or

Write the quick sort algorithm and illustrate
the operation of the algorithm with an
example.

(i) Discuss the use of Greedy method in
solving knapsack problem.

(ii) Explain multistage graph problem with
an example.

Or

Discuss the travelling salesman problem and
discuss how to solve it using dynamic
programming.

Define binary tree traversal and explain
various binary tree traversal with an example.

Or
Give an algorithm to identify articulation
points and  to construct  biconnected

components .Explain with an example.
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Explain N-queens problem with an algorithm.
Explain why backtracking is defined as defauit
procedure of last resort of for solving problems.

Or

Discuss the solutions for knapsack problem
using branch and bound technique.

(i) Explain the basic concepts of P, NP, NP-
complete and NP-hard.

(i) Prove a graph problem is NP-hard.
Or

Write an approximation algorithm for
travelling — salesman problem and explain.
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